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Il

ctions : Indicate your options clearly

| (a) Narrate the story of 'An Astrologer's Day' 156 1
=3 in your own words. .
= OR
==:) () Discuss the central idea of Robert Frost's 15 5

—— poem 'Stopping by Woods on a Snowy Evening'. -
= =D
=== Answerin brief the following questions : (any five) 20 _
==s==" (1) Why the astrologer was shocked to see his ,‘

customer's face? =
(2) Which advise the astrologer offer to his =

customer? :
(3) Why did Gerald Durrell move around the zoo

at midmght?

(4 Why are peer David deer so named?

(5) How had the Indian education system trained
Gopal?

(6) What kind of world does the poet want?

(7) How does the horse react when the poet
suddenly stops in the woods?

(8) Why does the poet compare his mood to a
bird?
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following passage in Gujarati

Translate the
or Hindi :
Qubhash Chandra Bose was 8 great freedom
fiohtor. He was called 'Netaji' by everyone, He
«as born in Cuttack, Orissa, on January 231
1807 His father was a great lawyer.

Netsji wanted to work for the poor but his
father wanted him to go abroad and study. He
wont him to England to appear for the Indian
Civil Services. In July 1920, he appeared in
the Civil Service Examination and passed it
with distinction. But soon, he resigned from
the service and returned to India.

In Indw, he founded the Indian National
Army (Azad Hind Fau)) to overthrow the
British Empire from India. Later on, Subhash

Chandrs Bose died in a plane crash. He was
& powerful man

(4)

(5)

(6)

(7

Mr. Patel sa
place at one
"Do you like
my father t
The Science
every objec
Nirmala sa
was!"

(b) Fill in the blan
Conjunctions : ¢

(1)

(2)

(3)

)

(5)

(6)

61 ]

Come —
(If / but)

=
(Though /
= N
reach in ti
(However /
Sweta writ
(But / and
Go at once
(or / so)

I shall wai
(tll / since
Brinda cou
raining out
(Or / becau
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Fill

Mr. Patel said to his servant, *Leave this

place at once.”

*Do you like this new shirt of mine?" Said

my father to me,

The Science teacher said, "Earth attracts
every object towards it."

Nirmala said, "What a fine picture it

was.

in the blanks with appropriate forms of

Conjunctions : (any six)

(H

4

(5)

(6)

Come ——— you please.

(1f / but)

_ he 1s poor, he i1s honest.
(Though / 1)

fast he may drive, he cannot

reach in time.
(However / That)

neatly.

Sweta writes slowly
(But / and)

Go at onee ———— YOu will be late.

(or / 80)

| shall wait
(tall / since)

yOu COme.

Brinda couldn't go out It was

raining outside.
(Or / because)
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Jlowing phrasal preposition ap

Ise fi . ‘ |
e e o es  (any sy VNIV
Veros .

On account of, Abide by, Break into, According :
to, look after, Hand over, Run into B. Sec. (Se
| October

Draft dialogues between a Librarian and a ;. Chemisti
student. f (!

OR i‘mc : 3 Hours]

Draft dialogues between a doctor and a 1
patient.

:

(@) siSuel & wadls

e e

(1) 2 AN

A 20
(2) 2= AN
(3) wwsadly
: (&) ASust AsA
(1) 2eedsly

Bild-{ly

(2) aesdsly
SNICB [

(3) Aupt & wsl-

(1) selul@s 2
qeldl,

(2) Refluy (Li

IQ\ dld‘llm'l. -
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Chemistry : CC CH - 501
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Pime : 3 Hours] [Total Marks : 70

L

(o) SOURL & WAL TN WL 14

(1) 2t 2z Getsel dlkd Al 21 PR
A 21 WA Al He U 53

(2) 214 vzl Rigid anadl gdeiadie 23l
(3) »hesddly dsllui s uBl Al
(o) £1SusL A5 Fae Ml - 6

(1) »esadly Aadlel SAsAA WildR M-l
wided-llu Riaid 2l

(2) wesafly @bl Sasal Fotedl el
SNICB [ufadl Al

(a) SiSugl A urdll FU 2N 14

(1) sefui@s Aoyl anandl, awl wsil gl
qeldl.

@) [adlum (Li) 0 seluf@s ddy- yal,

, @) seluf@s Aol Anser wndl.




() DSuat A
(1) Al(ney

2) HR-AR W

(o)

(1

(3)

A et L
puelat) AL SIS ANF A ogyyq,

gl arll (M¢3A|)2 Jl AW %l\{mQ\.
Ald @vl.

sR A A walAl U Al I
ot A2d 4 7 WRS AR ANURE %y

gd vk are A4l de W K,
2) g A YN ARBL AL d§1ad BElER 61

e 5.

FRAYE Aed g 7 At NS qelal.
A0ueL As WAl gUol ML ¢

(1) [Eb arst
(2)

Al yal.

@S aRel YR AN duil.

4 Al oR 4 qid Al gl 20N ¢

(1)

(2)

a4 wllsag yel 53)

HaN
e & [ag” HAC50
crien [2ry0]  [¥] &
NH 20]
A Yy Ao
47 ananql,
baig ) e 9 7
Grs) a:,: ;‘;““ ! B0l QL RAN 2wl
Usrreflyg f&a; Wl MANG Geeast

AT AL AU MR Pt (11) Al o Al A3
slelt Gudlal s aud B, w2 ?

1

2

EN(

(a) Answer an

(b)

(1) Explas
examp
trans

(2) Discus
effect.
(3) Discus
octahe
Answer an
(1) Expla:
electro
comple
(2) Discus
electrol
comple

(@) Answer any

(b)

(1) Explair

types ¢
(2) Discuss
(3) Explain
Answer any
(1) Give th

explain
(2) Write a

MAF.752
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Organic Chemistry : CC CH - 502

B - 3 Hours) [Total Marks : 70

(2)

()

()

(=)

{b)

()

weed 1 4l 3 Yl &35 WAL 20 3481 dul Wad 440 10 3481
8.

AN d Al FAUA ML 14
(1) AAdlA qg-lg vz e 2431l

(2)  wSsAld eIl serun-dl axl 53

(3)  usgl-udd aule-l usia Gualladl qHondl.

AP A2d 3 7 4ed Gelsael Al @l 6
wral (BalsHidu wasa el 13l

»4al
Bshe et 2L MR Al vl 6
A 4 AL g Hl 14

(1) Yolpd GlHIEL YRAR 53,
(@) Wi 23al C;-C, o4 YRR sl il

MIML
3) o - adlflallad w2l A B
wSa Bt (run avendl Al wulewil agtdl 6
»udl
g o p g wieleds s A 6

el s WA B, auadl.
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(1)

(o) AR A QL FUA vl

an i SN2 BuilEHl w2 23 s34 u
Qal s3l.

9y SN? wbuifadl 2 dd Aasia w0y o
@ wiell aye el wr oAl gy,

(@) B! 23 B2 Buladl axendl.

Anql

(o) g5l @il @ ollsre Ergiqcll

4 oAl el gsMi wael sl (B A ga)

(1)

(2)
{3)

1
(5)
6)

i)
(&)

)]

MO 2 Wl el Uy diel wad

% 7

el med 4 7

AL 3 sl ASselld sAi siwzslly g

WML

¥l el llld e 534i nad) (e A ol

£ Wiy A5 yug 8 7

B2 il Py aq),

= - Al agy foiy @ ? )

b3 Az y j
HEO- |

D07 i C,H0
‘bﬂm s

dumm sl ]
1) it it Sl
- ‘*“‘“‘b Wit 5 ¢ 5

A

(a)

(h)

KD

[nstruction : Q

Q

Answer
(1) Dise

com|
(2) Disc
(3) Expl

comy
What 1s
of aldoxi

example.

(b) Write shc

Transforn

2  (a) Answer a

(1) Prove

(2)  Give

C,-C,

(3)  Discu

of o

(h)  Explain is

(b) Explain th

Aldehyde g
MAF-760 |
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MAF-768 Seat No.
B. Sec. (Sem. V) Examination
October [ November - 2018
CcC CH - 503 : Physical Chemistry

Time @ 3 Hours| [Total Marks : 70

aat (1) el Hd AR wedl B

() opell oz ealdal s Wit A yud 8.

- w3dl daaist (1) C = 3.0x1019 cm/sec.

(2) h = 6.626% 10-27 erg. sec.

@) k= 1.38x10°16 erg. degr-!. mole.
(4) R = 8314 Jule. mole™t. kL

(5) R = 1.987 cal. mole~l. k7L

(6) R = 82,06 mm. lit. mole~l. kL.

I

1 (@) 2% da A %u UM ¢

(1) b ad wad Sl emf | wllsrel
dirdl.

2) wesd qr Caly Al gledl 2 gl
seusiz Haqail emf A Gualsllar anedl.

(3) AW : yadl s WRFud.
Al emf 4 wllsa ardl.

MAF-768 | 1 | Contd..
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3 sl e AN

(b) ™ 3
30°C areud Al X

Bl V2[Rng s : (3) NEl aumal

(1) : _ (1) <bil W)
CrzO72— (0.5m) + 14H (2m) +6e (2)  wilhaf
y 2er " (0.3m) + 7 HpO o B‘:q&
A (4) >4 i
w2 | =
E%xi (€207 ) =R (6 st
@ 25°C dMid AL Sl emf 2.396 V 8, :3: :}mg“
34 &M ”A i 0.0l M)| A = e
Al |Alaq) (00018 M)fjAR ) (001 M) Age, (b) A% d Aseil s
w5 : AL 3= ALGS) A soulig (1) Rz g
(aq) MHYMI2 20,0
0, . =-080V ,000 8.
WelFyd 2=, AglAg+ @) ?34 g& 105
2 (a) AN d Q4L U @u] : 14 0200010
(1) #M34 WA Axu-l EBRY w8 eudl. M2 Mn 3
(2) M.B, F. D. %1 B. E. 2295l datt 4 23 d edtt rus 2
53,
‘ : , (1 E° = -3.05
(3) BuAlddly [Adel sedd wlsml 4. Li™/ Li
(B) 3 d Asdl g Y : 6 E:a Y
| “"/Mg
(1) 0°C atrt H, el wRoinelly Ridrel sa-t 54 gé ?
Aol [ =4.59x10748 ko m2
2) InT! ,1 a"lrd..& wey Ma R[Z‘bl Q‘?l'ﬂ ‘t@{ 319[1 (2) AGO =-147 k.J.n
Al 25131 R yey o). el

3 (&) =3 qq FUA B -

N 14 )
. Uik i Sn WBut : Zn
an:q;'ﬂ AR AMal] gy wBeld ygla ' o a(s?
: ‘ A 4
) Moques (3) Algdl 5N
aw‘t\ u\(hwﬁa‘m-t Byl B (4) CH4COOK - K:

MAF-768
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(3)  NEL wqmal : (Gerezsl whuid)
(1) &) Rz
(2) bRy
(3) DBuasifia
(4) 4 yiraAMg Rz
(5) SN
(6) Wella MReISHuA
(7 H.D. P

(b) A A AsA yus >
(1) RN il PDI 281, i 30% (Al

WAL 20,000, 40% ~it 30,000 A oSl
60,000 &.

(2) 104 A 105 2o Kddl & y2sll ax-dl
0.250 : 0.750 20d B3t 53l Gietetl A3l
2 Mn ¥4 Mw e,

AN d eAAL WS 2 :

(4]
1) E° «-305V,E =-273V ¥4
( Lt/ Li Ba> " /Ba

E® =-237V
Mg2* /Mg 8. Al uor UHRBaA sl

s & 7
o .
(2) AG°=-147 k.J.mole™! 8. dl Ez“2*|=,, 1 Y&
sgeudl.

+ 2+
Aw uBw : Zngg) F2HE =0t Hae)

(3) aigal Sy wed 4 ?
(4) CH,COOK -l Ka #9q4 W2eL Sl 2 @l
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| Contd..




HCOONA -l gellugiaeil Revy oy

(5) vl
R,

©6) Py d ‘L“’*&'\‘f‘q}'

7 N wed Y !

:\: :{_\,3:\ 200 K i Quyp 280 (v = 21dem-1)

(9) %;R‘bl'u Yot w_dl [n 9! I (G aall, \

;1m 4udid 6,6 +l WAL i zpﬁ %l4lL,

117 wae A glasdl Boddl 2iqsR 2.62 2 1.70 8.
4 maeedl e Foudl eudl.

(12) i Yot weudl.

ENGLISH VERSION

Instructions : (1) This question paper carries fo

questions,
(2) Figures to the right indicate marks (

: the question.
Necessary Constants :

(1) C = 3,0x1010 cm/sec.
(2 h = 6626x10-27 erg. sec,
(3) k = 1.38x10-16 erg. degr-!. mole”
9 B =8814 ila matak Gl
:z; R = 1987 cal mole-!, k-1,
1 R = 8206 mm. lit, mole~!. k"
B) Give
0) Daivg e 307t '

®quatiop fo.
mmw‘m : r
@ Explain uwn cell wigh transforence.

(&)

(b)

Give th

(1) Cal
rea

Cf:
—)
EO
(2) em
Al(

Ca
red

Ali

(a) Give th

(b)

1) Giv

(2) Cal
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B. Se. (Sem. V) Examination
October / November 2018

Structural & Analygjcal
Chemistry : CC CH . 504

Time : 3 Hours] [Total Marks : 70

1 () a3 d AL yaus 2y 14
(1) Y G481 &t A2d g 7 aymmdl. W94 Gels8L gIRL
Cn™! =cn! dul Cn"=E e ).
(2) gl geld 43l (Sn) 2ed 9 ? Y5y Gerean
GRL 144l Eclips Ethane o Gelgas g
5j = 6h 1 s{:zl{ Al 531
(3) ARl 2120 51220 ¥led Mg A4 +54] 59y
(a) adly H;BO; (b) CHy (0 Pels,

(o) NH;(C,V) o Gereeatad ealdld A4 AR 4o ¢
2124l

(o) 80, meul wupa waug S R WS, s
P, P, P, sudl-fl aifufa 4581 5%
2 (=) ad q Aoy A wlzar @0 14

(1) aMqed A #AHde Qat PMR aglyey

w2 4oy Gerssl ?u\‘fa;;to:q': PMR  qulyey
‘ . ol M2l MEuER S A
(2) 1{::‘:;:‘;}% 2&?}1 i At Geleel gt wonq)

(3) PMR asfuexi e ¢ 4413 TMS Gudlat

gy B WM T G iyl NMR 6

() gOM?/ iu‘%;{‘l't ;;; H?'i"’-“‘ Al Hordlu AAni Alvey

i.:ili éu-a -;PP';& i it 5. MY ;q\ai s};te)!yll;lg-t?g

et g saaui A dl et S 555 85
aual

| Co
MAF-776 1 1




da A p—-—-—— ——
() oM signal L LA e g
%
gw& 212 &"M uAAfEd 53 gy ? EN(
sl @ Al FAUCL ) . i (a) Answer an
(1) a)a«u d;ﬂ St 54 92 4 2 0 N (1) y:rhagli
1 1L, F
: g A AAT AP o Cn-!
@ gl e : () What.
(1) o8 mqk?l\ (i) 34 iy Explai
@) yas A2d g ! 7 sl gl qgfq) Y Taking
aoudl. WA YASHL AN ey prove
() 100 ML 0.1M NH4O.H "l glaepy 0.1 (3) Detern
10 ml, 99.9 ml GRdi pH i uq) 4 of the
2Yql (a) Pla
(8) [asadly A axadl. (b) Describe tha
4 ARl Adue 10 (ed) Al a ga| (b} Determine t
(1) Hy0 Al sl el gxz 2 gyz b P, orbitals
9 CV| E C, oXZ oYZ i : S of SO,.
(2) oX7 | 0 E L 2 (a) ?All))sv\rgr 21111.)'
" — = : X
((‘;) Ml 3 (1) 2eq 9 ? the b
(~_> R oMe w56 ) AR Buell M and No
9 . ) 15
Y Rh000 N gy Gomi 1H (02 Sl nai
(6) ouau" g (wo) 22¢| a9 ? ~ and ben
%&;lla} . ot wiod] @ ot | = TMS 3
3 , spectros
(7) Hy. ;Hm Silsaus a8 ? (D) lakmg NME
(8) 'CHQ CH 1 PMR 31gnal'ﬂ b U0 MHz sg
. “COOH il 3“3] absarbance a
Blgna' iois L8 G determine Lhe
(9) OOIM H 1 33&[ ppM n@{ﬂ %‘ql 13 pertorm v
(10) "0. ms 4 | pH °l'ﬂ position of
1 o !
\t'g “63 l‘lm-mq !llcu:u.ﬂ Ry Al W h)  Write all ps:
%"h 24 3 cyclopropane.
6 signal of each

Ny
20, 4
\\ N“'CO3) = Hel 0 3
2

ad ﬂww-u USY qu‘

the basia of

B MAF.776 ]



